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A 0.5 kg mass attached to the end of é"’i
(c—‘ut'ﬁ) in a vertical circle of radius 2 m. f_ th
mass is at the lowest point on the circle, the s

the mass is 12 m/s. The magnitude of the ten

force in the string at that moment is:

13N
36.7 N
56.2 N
40.9 N
237 N
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" * om any other planet (HSJS), two masséfsa
1 re separated by a distance R, as shown in theﬁ fr;

?"i'f’f'ii*-'_i“-'below o
| ;{f--?*_lf M, = 10 M,, then, the distance d (measured from
~ Where 3 point-like particle of mass m can be placed n
between M, and M, such that it experiences zero

‘gravitational force is:

1 Wit
¥ | EaLire |

A. 0.33R
B. 0.50R
C. 0.85R
gD 0.76R
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: In ,order to cause this acceleratien?

A 15kw| R 2B

B. 20kW ool 8 P
D. 30 kW

E. 35kW




M =1500Kq

\Up= 20 m/s ,U;=0

£ 210s
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Fzma
= (1500)(2) = 3000N
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q10 ,
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A mass M = 50 Kg is hung (4slxs) using t’hree:-?"
shown in the figure below. If 6, =0, = 60° the
tension T Is:

A. 100N
B. 250N
C. 32b N
D
E

. 490N
510N
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o TW° masses M, = 2 kg and M, = 4 kg are attached by'”
: - arigid rod of negligible mass (ileg< 1€ 53). The rod rota_

. inthe horizontal plane about an axle that passes through
. 0asshown in the adjacent figure with an angular speed

- of8rad/s. If M, is at a distance 0.5 m from o and M, is
~ adistance 1 m from o, the rotational kinetic energy (in J
. of the entire setup is:
A 250
B B. 100
177
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The disk in the adjacent figure rotates (.)JJ-‘) wat
- angular speed w about an axle (ys><) passing t
- point 0 and perpendicular (s2s5+c) tothe plane c
- disk. If w, a and V represent the angular speed,
acceleration and linear speed, respectively (sl
~ then whlch 9f the followmg statements rs entlrel
| CDrrECt. S e el S
A V= VB Vc ande>w3>wc

Wy =W = wcand dou=
V,>Vg>V, and Wy =W =We
aA.)aB}acand VA VB _____

wy = wB wcand Y, = VB
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l__-\ block is pushed up a frictionless 30° incline ( L

Ji) by an applied force (F) as shown in the ﬁgureh
- below. If F =25 N and M = 3 kg, what is the magnitude
-~ ofthe resultlng acceleration of the block? '
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'shown in the ﬁgure below The normal force (____
~ the car whtn 9 60° 1s g G

A 3015
C. 2670
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urface is equal to O. 25 determine the speed of the blo___.._
en it ﬁrst passes threugh -.t‘:ére_- pOSItIOh fer wh:ch the |
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Iree masses are in contact with each other

~ on a smooth horizontal surface, as shown int
- figure below. If M, = 10 kg, M;=20 kg and 4‘
kg, and the force F = 100 N. .
The magnitude of the contact force between M, 2
M, is:

. 20N
40 N

[ w | w[w ]
80N

100 N

i Y R e
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moon when it moves from point P, to point P, is:

A. mRF,

B. 2nRF,

. nR*F, P
D. nR?F,/2

E.

Zero
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A block of mass M slides (3!35) along a rough (&

inclined surface (Jils zhu) with a constant velocity.
The inclination angle (0> 4a4l)) of the surface is ©

as shown in the adjacent figure (Usia=ll JSAI),
The coefficient (J4l=s) of kinetic friction ( p ) of the
inclined surface is:

. cos?(0) ey
. cos(0) 44.‘-"‘5;
. sin(26)

. tan(0)

sin(6)

M T N>

*Take g= 9.8 m/s? | Jj
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rblock sets on a rough (O=3), horizontal su
‘When the forces F,= 30 N and F,=10 N are
the block as shown below, it is found that the k
moves with constant velocity. The force of kine
friction (f,) between the block and the surface is

A. 4.14 N, towards left
B. 4.14 N, towards right
C. 11.2 N, towards left
D. 11.2 N, towards right

E. 15N, towards left Fz
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